

PROPERTY DETAILS REPORT

St. Louis County, Minnesota



Date of Report: 7/7/2025 2:56:20 PM

| | | | General De | tails | | | |
|--|--|---|---|----------------------------|-----------|------------------------|---------------------|
| Parcel ID: | 400-0010-0370 | 0 | | | | | |
| Document: | Abstract - 7318 | | | | | | |
| Document Date: | 08/24/1998 | | | | | | |
| | | Lega | al Descriptio | on Details | | | |
| Plat Name: | INDUSTRIAL | - J | | | | | |
| Section | Τον | vnship | R | Range | L | ot | Block |
| 22 | | 51 | | 17 | | - | - |
| Description: | NW 1/4 OF NE | 1/4 | | | | | |
| | | | Taxpayer D | etails | | | |
| axpayer Name | SWANSON CO | DRY J | | | | | |
| nd Address: | 7562 INDUSTR | RIAL RD | | | | | |
| | SAGINAW MN | 55779 | | | | | |
| | | | Owner Det | tails | | | |
| wner Name | SWANSON CO | DRY J | | | | | |
| Owner Name | SWANSON GI | NA M | | | | | |
| | | Payal | ole 2025 Tax | C Summary | | | |
| | 2025 - Net | | | | \$4,049.0 | 00 | |
| | 2025 - Spe | cial Assessment | ·c | | \$85 (| \$85.00 | |
| | | | | | _ | | |
| | 2025 - T | otal Tax & S | pecial Asse | ssments | \$4,134.0 | 00 | |
| | | Current | Tax Due (as | s of 7/6/2025) |) | | |
| Due May | | Due November 15 | | | Total Due | | |
| 2025 - 1st Half Tax | \$2,067.00 | 2025 - 2nd | Half Tax | \$2,06 | 7.00 2025 | - 1st Half Tax Due | \$0.00 |
| 2025 - 1st Half Tax Paid | \$2,067.00 | 2025 - 2nd | l Half Tax Paid | \$2,06 | 7.00 2025 | - 2nd Half Tax Due | \$0.00 |
| | 025 - 1st Half Due \$0.00 | | | 2025 - 2nd Half Due \$0.00 | | - Total Due | \$0.00 |
| 2025 - 1st Half Due | \$0.00 | 2025 - 2nd | | | | | |
| 2025 - 1st Half Due | \$0.00 | 2025 - 200 | | ails | I | | |
| | | | Parcel Det | ails | | | |
| Property Address: | 7562 INDUSTR | RIAL RD, SAGIN | Parcel Det | ails | | | |
| Property Address: School District: | | | Parcel Det | ails | | | |
| Property Address: School District: Fax Increment District: | 7562 INDUSTF 2142 - | | Parcel Det AW MN | ails | | | |
| Property Address: School District: Fax Increment District: | 7562 INDUSTF 2142 - | RIAL RD, SAGIN DRY J & GINA M | Parcel Det AW MN | ails 25 Payable 2 | 2026) | | |
| Property Address: School District: Fax Increment District: Property/Homesteader: Class Code Ho | 7562 INDUSTF 2142 - SWANSON, Co mestead | RIAL RD, SAGIN DRY J & GINA M Assessmen Land | Parcel Det AW MN 1 t Details (20 Bldg | 25 Payable 2 Total | Def Land | Def Bldg EMV | Net Tax Canacity |
| Property Address: School District: Fax Increment District: Property/Homesteader: Class Code Ho (Legend) | 7562 INDUSTF 2142 - SWANSON, Co mestead Status Homestead | RIAL RD, SAGIN DRY J & GINA M Assessmen | Parcel Det AW MN 1 t Details (20 | 25 Payable 2 | • | Def Bldg EMV \$0 | Net Tax Capacity |



PROPERTY DETAILS REPORT

St. Louis County, Minnesota



| Land Details | | | | | | | | | | | |
|--|--|----------------|----------|---------------------|----------------------------|-------------------------------|--------------------|--|--|--|--|
| Dee | ded Acres: | 40.00 | | | | | | | | | |
| Wate | erfront: | BEAR TRAP | | | | | | | | | |
| Wate | er Front Feet: | - | | | | | | | | | |
| Wate | er Code & Desc: | W - DRILLED WE | LL | | | | | | | | |
| Gas | Code & Desc: | - | | | | | | | | | |
| Sew | Sewer Code & Desc: S - ON-SITE SANITARY SYSTEM | | | | | | | | | | |
| Lot Width: 0.00 | | | | | | | | | | | |
| Lot Depth: 0.00 | | | | | | | | | | | |
| The | The dimensions shown are not guaranteed to be survey quality. Additional lot information can be found at | | | | | | | | | | |
| https | https://apps.stlouiscountymn.gov/webPlatsIframe/frmPlatStatPopUp.aspx. If there are any questions, please email PropertyTax@stlouiscountymn.gov. | | | | | | | | | | |
| Improvement 1 Details (HOUSE) | | | | | | | | | | | |
| ' | mprovement Type | Year Built | Main Flo | | - | | Style Code & Desc. | | | | |
| | HOUSE | 1978 | 1,63 | | 1,636 | U Quality / 0 Ft ² | 1S+ - 1+ STORY | | | | |
| | Segment | Story | Width | Length | Area | Foundati | | | | | |
| | BAS | 1 | 0 | 0 | 14 | | | | | | |
| | BAS | 1 | 0 | 0 | 22 | | | | | | |
| | BAS | 1 | 12 | 16 | 192 | FOUNDAT | | | | | |
| | BAS | 1 | 12 | 22 | 264 | BASEMENT WITH EXTE | | | | | |
| | BAS | 1 | 26 | 44 | 1,144 | BASEME | | | | | |
| | DK | 1 | 0 | 0 | 96 | PIERS AND FC | | | | | |
| | OP | 1 | 12 | 8 | 96 | POST ON GR | | | | | |
| | Bath Count | Bedroom Cou | | Room C | ount | Fireplace Count | HVAC | | | | |
| | 1.0 BATH 2 BEDROOMS CENTRAL, FUEL OI | | | | | | CENTRAL, FUEL OIL | | | | |
| | | | Improve | ment 2 De | etails (FABRIC | ;) | | | | | |
| 1 | Improvement Type Year Built Main Floor Ft ² Gross Area Ft ² Basement Finish Style Code | | | | | Style Code & Desc. | | | | | |
| | UTILITY | 0 | 11,5 | 20 | 11,520 | - | - | | | | |
| | Segment | Story | Width | Length | Area | Foundati | on | | | | |
| BAS 1 72 160 11,520 P | | | | | | POST ON GR | ROUND | | | | |
| | | | Impro | vement 3 | Details (PB) | | | | | | |
| I | mprovement Type | Year Built | Main Flo | oor Ft ² | Gross Area Ft ² | Basement Finish | Style Code & Desc. | | | | |
| | POLE BUILDING | 0 | 2,43 | 32 | 2,432 | | | | | | |
| | Segment | Story | Width | Length | Area | Foundati | on | | | | |
| | BAS | 1 | 64 | 38 | 2,432 | POST ON GR | ROUND | | | | |
| | LT | 1 | 64 | 14 | 896 | POST ON GR | ROUND | | | | |
| | Improvement 4 Details (FABRIC) | | | | | | | | | | |
| 1 | | | | | Style Code & Desc. | | | | | | |
| | UTILITY | 0 | 1,80 | 1,800 - | | - | - | | | | |
| | Segment | Story | Width | Length | Area | Foundati | on | | | | |
| | BAS | 1 | 30 | 60 | 1,800 | POST ON GR | ROUND | | | | |
| | | | Improven | nent 5 De | tails (AG 24X2 | 4) | | | | | |
| Improvement Type Year Built Main Floor Ft ² Gross Area Ft ² Basement Finish Style Code & Desc. | | | | | | | | | | | |
| 1 | GARAGE | 1979 | 57 | | 576 | - | ATTACHED | | | | |
| | Segment | Story | Width | Length | Area | Foundati | | | | | |
| | BAS | 1 | 24 | 24 | 576 | FOUNDAT | | | | | |
| 1 | | | | | | | | | | | |



St. Louis County, Minnesota



Date of Report: 7/7/2025 2:56:20 PM

| | | | Improv | ement 6 De | etails (HOOP) | | | | |
|-----------------------------|--------------------|------------------|---|--|----------------------------|----------------|--------------|--------------------|---------------------|
| Im | provement Typ | e Year Built | Main Fl | | Bross Area Ft ² | Bas | ement Finish | Style C | ode & Desc. |
| ST | STORAGE BUILDING 0 | | 80 | 00 | 800 | | | | - |
| | Segme | nt Story | Width | Width Length | | Found | | ation | |
| | BAS | • | | 20 | 800 | | POST ON GROU | | |
| | | | Improve | ement 7 De | tails (Loafing) | 1 | | | |
| Improvement Type Year Built | | - | Main Floor Ft ² Gross Area Ft ² | | Basement Finish | | Style C | Style Code & Desc. | |
| CAR PORT 0 | | 72 | 20 | 720 | | - | | - | |
| Segment Story | | | Width | Length | t h Area 216 | | Foundation | | |
| BAS 1 | | 12 | 18 | POST ON GROUND | | | | | |
| | BAS | 1 | 14 | 14 18 25 | | POST ON GROUND | | | |
| | | | Improv | vement 8 D | etails (Shed) | | | | |
| Im | nprovement Typ | e Year Built | Main Fl | oor Ft ² G | Bross Area Ft ² | Bas | ement Finish | Style C | ode & Desc. |
| ST | ORAGE BUILDIN | IG 0 | 48 | 8 | 48 | | - | | - |
| | Segme | nt Story | Width | Width Length Area | | Foundation | | | |
| | BAS | 1 | 6 | 8 | 48 | | POST ON (| GROUND | |
| | | | Improveme | ent 9 Detail | s (SECONDAF | RY) | | | |
| Im | nprovement Typ | e Year Built | Main Fl | | Gross Area Ft ² | | ement Finish | Style C | ode & Desc. |
| | HOUSE | 2023 | 2,8 | 16 | 2,816 | | - | 1S - | 1 STORY |
| Segment Story | | Width | Width Length Area | | Foundation | | | | |
| BAS 1 | | 24 | 24 32 768 | | FLOATING SLAB | | | | |
| BAS 1 | | | 32 | 32 64 2,048 | | FLOATING SLAB | | | |
| | Bath Count | Bedroon | n Count | | | | | HV | - |
| | 2.5 BATHS | 3 BEDR | OOMS | - | | | - | C&AIR_EXCH | , PROPANE |
| | | S | ales Reported | l to the St. I | Louis County | Audito | r | | |
| | Sa | le Date | | Purchase I | Price | | CR | V Number | |
| | 09 | 9/1998 | \$155,000 (| \$155,000 (This is part of a multi parcel sale.) | | | 124242 | | |
| | | | A | ssessment | History | | | | |
| | | Class | 1 | | . – | 4-1 | Def | Def | |
| | Year | Code (Legend) | Land EMV | Bidg EMV | I IO EN | tal //V | Land EMV | Bldg EMV | Net Tax Capacity |
| | | 101 | \$110,000 | \$529,5 | 00 \$639 | 9,500 | \$0 | \$0 | - |
| 2024 | Payable 2025 | Total | \$110,000 | \$529,5 | 00 \$639 | ,500 | \$0 | \$0 | 5,304.00 |
| | | 101 | \$93,800 | \$310,4 | 00 \$404 | ,200 | \$0 | \$0 | - |
| 2023 | Payable 2024 | Total | \$93,800 | \$310,4 | 00 \$404 | ,200 | \$0 | \$0 | 2,970.00 |
| | | 101 | \$75,600 | \$368,5 | 00 \$444 | l,100 | \$0 | \$0 | - |
| 2022 | Payable 2023 | Total | \$75,600 | \$368,5 | 00 \$444 | l,100 | \$0 | \$0 | 3,242.00 |
| | | 101 | \$75,600 | \$319,6 | 00 \$395 | 5,200 | \$0 | \$0 | - |
| 0004 | Payable 2022 | Total | \$75,600 | | | | | \$0 | |



St. Louis County, Minnesota



| Tax Detail History | | | | | | | | | |
|--|------------|---------|------------|----------|-----------|------------------|--|--|--|
| Total Tax & Special Special Taxable Building Tax Year Tax Assessments Assessments Taxable Land MV MV | | | | | | Total Taxable MV | | | |
| 2024 | \$2,103.00 | \$85.00 | \$2,188.00 | \$91,319 | \$295,792 | \$387,111 | | | |
| 2023 | \$2,493.00 | \$85.00 | \$2,578.00 | \$74,051 | \$354,067 | \$428,118 | | | |
| 2022 | \$2,411.00 | \$85.00 | \$2,496.00 | \$73,559 | \$303,112 | \$376,671 | | | |

Disclaimer: St. Louis County makes no representation or warranties, express or implied, with respect to the use or reuse of data provided herewith, regardless of its format or the means of its transmission. THE DATA IS PROVIDED 'AS IS' WITH NO GUARANTEE OR REPRESENTATION ABOUT THE ACCURACY, CURRENCY, SUITABILITY, PERFORMANCE, MERCHANTABILITY, RELIABILITY OR FITNESS OF THIS DATA FOR ANY PARTICULAR PURPOSE. St. Louis County shall not be liable for any direct, indirect, special, incidental, compensatory or consequential damages or third party claims resulting from the use of these data, even if St. Louis County has been advised of the possibility of such potential loss or damage. These data may not be used in states that do not allow the exclusion or limitation of incidental or consequential damages.